Unit 5B /Higher

USING YOUR KNOWLEDGE

Collocation review
Complete these sentences with a collocation that you have seen.

a The judge the claimant damages of £12,000.

b As my client has been unable to work, she will be making a claim based on her of
earnings. This amounts to £3,500.

¢ Some legal professionals think that the law of tort as a deterrent in that it makes
people think very hard about the consequences of their actions and may stop some people from doing
potentially damaging things.

d The law a duty of care on all employers to make sure that their employees work in a
safe environment.

e The judge decided that the defendant
defendant had breached that duty.

a duty of care to the claimant and that the

f Each party to a contract his or her obligations voluntarily, but in the law of tort
obligations exist whether people want to have them or not.

g |Inorder to that there has been negligence, the claimant must first satisfy the court
that the duty of care has been breached.

h My client damage to her health as a result of your client’s negligence.

i My client could not have anticipated the resutt of her conduct and we deny that the harm that she
caused was reasonably

i My client’s conduct was not the direct cause of the damage to your client’s financial loss, as the
of causation was broken by several other events.

Vocabulary review
Complete these sentences with a word that you have seen.

a English speakers do not use the phrase ‘moral damage’ 10 describe a claimant’s suffering but describe
this type of suffering as emotional

b The name of the general liability that people have according to the law of tort is
liability.

¢ The name of the liability that one person might have for the acts and omissions of another person is
called liability.

d The name of the liability that requires no proof of harm but is actionable per se is known as
liahility.

e The person or organisation that has committed a tort is formally known as a

f The tort of interfering with someone's enjoyment of his or her land by, for example, making a lot of
noise is known as
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